R irit g RI018 &R % - 0% T2 AEKFILE 4 RE PR

7.

MR R e R BT )RR T () GRS A D) [T ]| T
1 6 5

FRT (Y)HAF T (X) e ﬁfrf;V = y=0.75+0.75x o 7 6 6
3 8 7
4 9 7
5 6 4
6 7 7

BAKL A 4
@+2*)A+2%)QA+2%)---1+2%)

% a, = 2n—1 ' N TELJE }%’ﬁ'{ ’ 1\1@0 S = 4 °
cFasFE F AN F(X)=(Xx-2012)(x—2010)(x —a) —48 7 AF fidic— = F]; o E R

a=1997 £ 1993 & 2017 & 2002 £ 2003 £ 2004 2+ 2008 2 2014 £ 2059 °

A1BI9FE 2n Ble, $EL SN+ 2 $ 487, X245 d, Er8swn+ 12
fegrisn+ 1o qosmt 5 1:3, fE$n,d=_ (42)

31
A 22220 2P B RES B R At b dflog,b s M= —— |

300

X+2y+z=1
T AL ufEE- B - KB SRR 3X+4y+az=-1, T A s HcFa, fEE
2x+10y+5z=c

2, ¢ A uiikc, AR RESEL X=4, y=—2, z=1, P]p} S f2e B 1

xy 5380 A (-8 19+ J(y-T) L+ X4 yT 2 bl im= 55 °




2 2 2
a(x+a) b(x +b) c(x+c) ”‘T\f(_a+b+c

8. a‘b‘Cfi’fBé‘i ’?\?Q'J:’E f(X):(a—b)(a—C) (b—c)(b—a) (c—a)(c—b) 2

)

O LAFMAF-FIF 12254 128/, S0 eHRBEE, BHTHY 0w H2 R
B EREABERPBOAE I MRS AR $ 62 AP AR, Bl
-+ =
i

10. 4o+ Bl #t7 , £ = 48 ABCD—EFGH ¥ BC=12,CD=9, DH =3.% & %&£ = 4 ABCD—EFGH

5T G BDE *» 3|2 & B = ¥ EA, E H E
el e
, e _— = - n
s8. P 4BD_ * BP:PD=2:1, ; - b
B 12 C B

KPEE R : V82.

1. afFALBSEd - kFHFPPHEE LA RTe t BF T BE- BE -0
AKQO)B4:A5 82 5 - HHAp L85 18 X% - F-FWBAGR LA
397

v A _ 12 A R N s 3 X &z, gl a e kY 5l 38 & X —_—
TE-HFLE LT A FEI - NS FHAEBRGSBE L

’ 2 - 7 oy 7 oy , -X+ _X_
12, 2 k- B3 2B F Ao — Xt NILXE - = ﬂ:iﬁayg\b’ﬂ"\ui

2
o 91
pRiEs — :
4 1B 36

13. &X' +x+1=02 212 5 1,1,,0,,1, » * p(X)=%x"=2 » £ p(r,)x p(r,) x p(ry) x p(r,)

= 23 o



14. 0,05 F 2R ERE y=x"+ax’+14p*, Plaz pmi_a>3.

125
27(]"’6"%\&?/17

15. ® 202, 5 ¥k |7 =3°2,|=5> 2 |z, +2,|=7 > E‘J(§—2)3if§_é -
1

#)

16. = # 5| <a, > <b, > & 3 1-b, =1 VneN Bnis = 8y — 20, + a
. - 7 > = =1» — ’ 'E' I= ) o kK =
n n F al 1 bn+1=an+4bn n
2n+1_3n
1 Y
17. 4o+ W% a>0, B P(GBa,a’)t I y=gx' 1, BQhaxpr el
R
» OP=0Q, # MPQO Xyt RE, & Piod & [ ABiT> R BLPF,
FREER &I L (0,18) . ) o~ X

18. AABC ¥ » Z/B=90" - * BC=a CA=b AB=c ' ¥ VxeR > {2} ax’+bx+c>0 -

FeLZA 2 EBx E=T75° o

19. AABC ¥ , A(4,0,0), B(0,4,0), C(0,0,4), M % BC ¥ B, % #C gL AM 475 C '8k
#BC'=242, B C/B 4% (V2,3 +V2,1+V2)8(—/2,3-+2,1-+2) -

20.F1, Fo 5 W & I end 3 22, ABCD 5467), A 2 MAC, BD 3 [ ehipriTél . £ 7 -
2P P A BTSRRI A 8, 2 P A L bt x AB=8,AD=6, RAPFFehd ## =_ 50



21.

22. 3 - faF P - BAeKF 2B 0 3k, BEP RS P IRP IR, F - AEP GG Y
Poo Tk, PoRIRISE - BF, F A3 R fengi, BT B B 23pEerk Ol
HRAFELRE g+, BRIV B B9 & T I ehnf L T G ko f5 3
R, RGN RAF 2B, LT - B, REEP RS RS, BIP G 2B
TR 5=

O |

9]
23. 4r®, ABLAC* ABLL* B, AB=14, AC=3,
P. QA% % AB, Linfsah, % & ~CPQ=90°, G
A B
FACPQ chd % G #8575 . P !

¢ AL(8%)

BYHEY OGN ORBRERAE, R LA BT E P 2 e
(Dpe= 2 £ EE f()=2x—2) -5 A% x2 P f(x)F ] &-5
(2)






